STD – X    MATHS EXTRA QUESTIONS

Chapter: Arithmetic Progression

1. The ratio of the sum of m and n terms of an A.P. is     m2 : n2 Show that the ratio of the mth and nth term is (2m-1) : (2n-1) .
2. If  pth, qth and rth term of an A.P. are a,b,c respectively. Then show that:-
a) a(q-r) + b(r-p) + c(p-q) = 0

b) (a-b)r + (b-c)p + (c-a)q = 0

3. If mth term of an A.P. is 1/n.  nth   term is 1/m. show that its (mn)th term is 1.
4.  If five times the fifth terms of an A.P. is 8 times of its eight term. Show that its thirteen terms is zero.
5. The sum of n, 2n, 3n terms of an A.P. are s1, s2, s3 respectively. Prove that s3 = 3(s2-s1) .
6. the sum of n terms of three A.P. are S1, S2, and S3. The first term of each is unity and common differences are 1, 2, 3 respectively. Prove that: S1 + S3 = 2S2.
7. If the sum of m term of an A.P. is same as the sum of n terms. Show that sum of (m+n) term is 0.
8. If mth term od an A.P. is 1/n and nth term is 1/m. show that sum of mn term is ½ (mn+1).
9. Find four members in A.P. Whose sum is 20 and sum of whose squares is 120.
10. Divide 32 into four parts which are in A.P. such that the product of extremes is to the product of means is 7:15.
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